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yiniy DIN

pi
rho
allp
al3p

mu
other

1.80
5.00
8.47
10.37
2.08
0.98
21.19
unk

83.93
2.30
1.39
2.78

37.93

11.75

10.57

p

yuminosays

11.45
82.62
17.91
1.60
42.73
0.64
14.38
rho

0.41
9.04
70.01
0.43
1.62
0.00
14.67
allp

0.37
0.96
2.16
84.75
0.02
0.02
38.99
al3p

1.15
0.07
0.05
0.03
15.47
0.00
0.09
e

0.89
0.02
0.02
0.03
0.14
86.62
0.10

:reconstructed tau decay mode

Definition of efficiency:

each yuminosays decay mode

sum of all entries for each MC Truth decay mode
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Number of charged particle inside cone = 2

ECAL Fraction > 0.95

electron decay

E
ECAL Frac = —2CAL

CALO

‘E‘(.‘a\ Lo= ‘E".F_(.‘AL + bH(‘AL + b,\ﬂ:{)N

#photon
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Number of charged particle inside cone = 2

muon decay

EonP <04
Ecaro <25

Eyvon > 1.2

A

ECA Lo = E.ECAL + EHCAL + E:m,"ON
#photon

E,
EonP = —CAL0

track
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Number of charged particle inside cone = 2

pion decay

#photon
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Number of charged particle inside cone = 2

> 0.2 GeV

Rho decay

Pion decay

#photon
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Number of charged particle inside cone = 2

4
1. (v)
g Al_1p decay|A1_1p decay|

0.30

#photon
Rho decay | Rho decay

0.95 m(r+y)

7/17



Number of charged particle inside cone = 2

‘::.." : 2...-“ -
#photon & 3 my) |
\ A1_1p decay|A1_1p decay)|

0.30

Rho decay | Rho decay

m(r+y)

0.95
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Number of charged particle inside cone = 2

#photon

.
m(y)
A1_1p decay|A1_1p decay|

0.30

Rho decay | unknown

m{r+
0.95 (m+v) 9/17



Number of charged particle inside cone = 3

m(ri+y) > 0.2
A1_3p decay

#photon
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Number of charged particle inside cone = 3

0 unknown

m(r+y) < 0.2

#photon
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Number of charged particle inside cone = 3

> 0.9 GeV

A1l_3p decay

Rho decay

#photon
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Number of charged particle inside cone = 3

1. miy) < 0.2 & m(ri+y) > 1.2
A1_3p decay

#photon £
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Number of charged particle inside cone = 3

....... m(y) < 0.4 & 0.6< m(n+y) < 1.2

Al 1pd
#photon £ BESS
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Number of charged particle inside cone = 3

m(y) < 0.4 & m(mn+y) < 0.6
Rho decay

#photon £
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Number of charged particle inside cone = 3

min+y) > 1.15 GeV

#photon NC A1_3p decay
A1_1p decay

m(n+y) < 1.15 GeV
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Number of charged particle inside cone = 3

#photon

m(r+y) > 1.3 GeV & m(y) < 0.45
A1_3p decay

A1_1p decay

m(n+y) < 1.3 GeV & m(y) > 0.45
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